
INSTALLATION INSTRUCTIONSINSTALLATION INSTRUCTIONS

Rear Cargo Box: for Can-Am Maverick X3

Item Description
A Right Front Bracket
B Right Rear Bracket
C Left Front Bracket
D Left Rear Bracket

Cargo Box

-	 Do not discard packaging until product has been successfully installed.

ASSAULT INDUSTRIES // 2753 MICHIGAN ROAD // MADISON, IN 47250 ASSAULTIND.COM

NEED ADDITIONAL HELP?
Check out our YouTube channel
Call us : (714) 799-6711
Monday - Friday: 8am-5pm
Email: sales@assaultind.com

PanelA

B

D

C



ASSAULT INDUSTRIES // 2753 MICHIGAN ROAD // MADISON, IN 47250 ASSAULTIND.COM

TERMS AND CONDITIONS DISCLOSURE



IN-RCB-CA-X3-001 3

(driver side)(driver side)

BBCC

-	 Install Brackets and secure with hardware shown.
Do not tighten hardware completely.

AA

DD

2 each

M6 Flat Washer M6 NutM6 x 70mm

M6 Flat Washer M6 Nut

2 each

M6 x 50mm



IN-RCB-CA-X3-001 4

-	 Install Cargo Box to Brackets with hardware shown.

-	Align to machine and tighten all hardware.

(passenger side)(passenger side)

Cargo BoxCargo Box

B

A

M6 Flat Washer

M6 Lock Washer

2 each Bracket

Thumb Screw



IN-RCB-CA-X3-001 5

-	 Install Panel to Cargo Box with hardware shown.
-	 Panel can be installed to inside of Cargo Box lid. In order to maximize cargo space, use shorter Bolts 

and Spacers.
-	 Tighten hardware.

M6 x 25mm

Short Spacer
(plastic)

4 each

M6 x 35mm

4 each

Tall Spacer
(plastic)


